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POLITICAL SCIENCE
( General )

Paper : 6.1
( Public Administration—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
were frcaRd fcte Sepf Tee fi

(a) Name the country where there was
the practice of ‘spoils system’.

‘o @R INER GG AP (PRI AW
o~ T
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(2)

(b) In which year was the Public Service
Commission set up in India?

Wmmmmwsmﬁv
/7 CafeE ?

() The term “Promotion’ has been
derived from which Latin word?

@ SR @FCEl *RE A erEne”
o/ T8 (202 ?

(d) “The Budget is much more than
a mere estimate of revenue and
expenditure.” This was said by

‘et MR TwRT WEEIE SE AE
ST I9S (@R & 177 42 FAAR (e

(i) White
a1

(i)) Willoughby
T3’

(i) Wilson
2o

(Choose the correct answer)

(W= Taacn! Al Tfere)
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(e)

(9)

(h)

A9/624

(3)

Under Articles and of the
Constitution of India, the Parliament
can exercise control over public
expenditure.

(Fill in the blanks)
TRoR R F CH

SRS A AN SRS AOWA e
e ST R |

(fet 93CAR o[ +4)

On which date is Budget presented
in India?

TRAET @ CIfRcd ACEB AOWS  wIE
391 27 ?

Write one characteristic of

Development Administration.

G 2P GB1 Cafees foran |

In which year was the Right to
Information (RTI) Act passed in
India?

TREAAT @ O O T SAFE iz
52re (3fEe 2
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(4) (S)

(i) Accountability is a prerequisite of (d) Write two features of bureaucracy.
good governance.
(Write True or False) ’ T O A8y S 4
TS I 961 75 | (e) Name two types of accountability.
(351 =1 oty foran) VRS B! 2FEd T TrEy 40
*____.——-"
] t Lokayukta of
0 \:ho v;as the % b 3. Write short notes on any four of the
guiiin following : 5%4=20
SR 22N (RS (I e 2 were firn R e wifverR fRaca v Gt o
2. Answer the following questions :  2x5=10 (a) Informal training
were f PR TR i ST eiféee
(a) Mention two types of training. (b) Lokpal in India since 2013
72 o] elffred R Tomy 340 2050 HF TS SESA (EAFAE L
(b)) What is Balanced Budget? (c) Role of Civil Service in developing
" societies
efers AEn fF 2
T (TS SPTHRS G S

(c) Mention two demerits of ‘merit
system’ of recruitment. (d) Development Administration and

Traditional Administration
e e e 3 ol (W TeEY 40|
REm 2P S ATRIS 2T
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(6) (7))

= %
(e) Discuss the powers, functions and

independence of the Union Public
Service Commission of India.

(e) Difference between Single Budget
and Plural Budget

GFF ACEH HF IZA ACHD &S A1
TS WY (ARCEl A wWel, IR
‘ F FOFO! TS A 741 |
4. Answer any four of the following: 10x4=40
oo f7a & @ sifReR T fr - () Discuss the various means. of
Executive Control over Public
(a) Discuss the scope of Development Administration.
Administration. @ PRA SRS PR R
TRl 2P “If95/ SICeTo <641 | fafen @ TiIcd AL 340 |
(b) Discuss the major principles of * * k
budget making.
A ACED 2SI ol AT A T4 |
(c) Discuss the importance and
problems of people’s participation in
administration.
TS TENYETY ST BFR TE
S FACE SO 41 |
(d) Write a note on Lokayukta in Assam.
A CTRRER 9SG (Gl 2%S 31 |
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